Paper-Maker Paper Maker 10
Directions (1-5): & ¢ FaR F LAMES AT FX 3R AT Re 7w oot F e dfoe-

311G gk A, B,C,D,EF,G3HRH T XWeh dfd 7 S 81 307 § 8 ek &1 3R aur3+d 4
TS SIEIT I 3R 37T g1 3l 5 a1 § 3R AFd TR fgr v 3R 3w7g =1eh 8

C, E & &% 2V ST g1 G UiFd & fohell v 3ifdd 8k W 9o &1 G 3R H & #7LF &) Fidd
S 81 F, H & a0 & e ¥ W da7 81 H &7 fAehedd usidl vah-gaw &1 faudia feer
3R 377 &1 F AR E & ALY AT 3fFdT 98 &1 € 3caX foem 7 3% 3=7@ 81 A 3R D U&h
G &% 81 S A IS §1 D 3R B & HEF shael Teh egfed dof gl F Sco & 1 3R 37741
g1 ufed & A R W 3 IfFd Teh-g@l i1 faulia fer & 3R 37049 &1 G, H & FAW
feem #7 3R 3777 B

Q1. frfaf@a uia & & IR T ARET &7 & U FHg W NIRRT 8, A1d HST FiaT 30
UAE @ wEad 76§

(@) G

(b) F

(c)E

(d)H

(e)D

L1Difficulty 1

QTags Linear seating arrangement

Q2. i@ # q T A & & I TATT W dT 872
(@) E

(b) C & & ST TUH W o7 Ffaad

(gD

(d)D & & & GEY T T JoT ikl

() $1 & FIS et

L1Difficulty 1

QTags Linear seating arrangement

Q3.D 3R G & ALY fhasr =aFa 9 §72
(a) T

(b) @

()T & A=

(d) T

(e) 1S TET

L1Difficulty 1



QTags Linear seating arrangement

Q4. PFIfafla 3 & Rhawr cafea afaor fGem & 3R 3o &2
(a)ar
(b) T
() <t
(d) TR
(e) IX

L1Difficulty 1
QTags Linear seating arrangement

Q5. fAefafad & & Fid-a1 Forer UiFd & 3ifdd BR W daT §7?
(a) D, F

(b)B,G

(cJCH

(d)D,C

(e) SH & HIS e

L1Difficulty 1

QTags Linear seating arrangement

Directions (6-10): A& SRl #1 eAAqdH 3easl R 3R AT U 1w geat &
3l Ao

T fAfRed e s A

‘Light Green Blue Sky’ &I ‘en lu ks tm’ for@r i g,

‘Heart Sky Breath Hard’ &I ‘tm ar th dr’ fer@r Srar g

‘Hard light Blue Answer’ &' ‘th en kp ks’ for@mr Sirar g

‘Road know lots Answer’ &I ‘kp od wk ts’ for@r ST &.

Q6.8Y 918 FHe AT H ‘Green’ T FHc AT §7?
(a) En

(b) Lu

(c)Ks

(d) Tm

() 3TH & T =gl

L1Difficulty1

QTags Coding-Decoding

Q7.8Y 318 & AT # ‘light Heart Sky’ &T & &1 g1 Hehdl §7?



(a) en th tm
(b) luks dr

(c) enar tm
(d) tm en ks

(e) STH & &l =T8T
L1Difficultyl
QTags Coding-Decoding

Q8.2Y 1S g HT A ‘know lots Road Hard * &1 =m for@m Siram g7

(a) od wk ts th

(b) od en wk ts

(c) kp dr tm od

(d) wk ts od ks

(e)3TH & T =gl
L1Difficulty1

QTags Coding-Decoding

Q9.8 31§ e AT H ‘Sky’ T AT for@r ST Hever §?
(a) wk

(b) kp

(c) od

(d) ts

(e) 39H & &I =TeT

L1Difficulty1

QTags Coding-Decoding

Q10.&Y 1§ FHe AT H ‘Answer Breath’ & &1 for@rn Sirar g2
(a) ks ar

(b) wklu

(c) dr kp

(d) od en

(e) STH & &l =Tg!

L1Difficulty1

QTags Coding-Decoding

Direction (11-12): &1 8 STHRI HT EATqdH AT Y 3 & QU 7w weat &
3ca} dIfST-



U A foig A QT fGRm & I Y& I & 3R foig B gt & faw 24 7R
Todl g1 fig BA dg a IR HANd & § a0 73T & AR sharen: 10 #ex 3R 12
HEX Tt & AT &g DR gaaT &l f§g DI I faor feum # Teridr & 3R g E
T 9gd & AT 15T ToIaT &, R 37T & 98 379 917 F{3aT ¢ 3R dfaA f§g F
W 9gae & v 12 #eX e g

Q11.fsig D& Feedt H 3TH IRMAS fog fora foem # g7
(a) IcaR-aiegH

(b) &lgiur-ufeaA

(c) JecR-qa

(d) gfayor

(e) 3R § g =gl

L1Difficulty 1
QTags Reasoning

Q12.3fg foig 0,fdg A3 B #eafdg &, ar fdg 0@ 3@ 3ifaw T & &gy
wgelcdd g fohdelr 87

(a) 15 HeX

(b) 12 #HIX

(c) 10 HreX

(d) 13 #HeX

(e) 3R @ HIg =gl

L1Difficulty 1
QTags Reasoning

Direction (13-15): &7 3§ STRI & LATaH IETAT A AR 9 U a7 et &
3ca} gifaTT-

fsig A, Tdg B 20 #iex aiRd # g, f8ig B, f§g D& 9 #ex ek # g1 g F,feig
G& 6#HIeY ciEIor # gl f§g E, g €% 15#IY 3cck # 81 fog F, g Es 18 #HY
g4 # gl §g ¢, 7dg D& 12 Hiex qiReH 7 &

Q13.7g D& weadt # g G forw faem # &2
(a) &fgror



(b)Fec-qa
(c)gTauT-gfeas
(@9

(e)3o1H & IS gl

L1Difficulty 1
QTags Reasoning

Q14.7dg EX f§g A% HEF wgeTcd® gl fohcelr 87
(a)12 #HeX

(b)18 #HICI

(c) 25 HeX

(d) 10 #Hrex

(e) 5181 & IS Agr

L1Difficulty 1
QTags Reasoning

Q15.7dg C& Heast 7 g Afrg faem & &2
(a) 3caR-aiegH

(b)aTaror-qa

(0)3ca’-qd

(d) 9fae

(e) 5781 & IS Agr

L1Difficulty 1
QTags Reasoning

Solutions (1-5):
Sol.



S1.Ans(b)
S2.Ans(e)
S3.Ans(c)
S4.Ans(e)
S5.Ans(b)

Solutions (6-10):

Sol.

m <t
T -1

Word

Code

Green

lu

Sky

tm

Light/Blue

en/Kks

Heart/Breath

ar/dr

Hard

th

Answer

kp

Road/Know/Lots

od/wk/ts

S6. Ans.(b)
S7. Ans.(c)
S8. Ans.(a)
S9. Ans.(e)

S10. Ans.(c)

Solutions (11-12):

Sol.

12m

24m

15m

10m

12m

e

=~



S11. Ans.(b)

S12. Ans.(d)
Solutions (13-15):
Sol.
rﬁm
E 18m g
15m
A Z0m B
9m
C 12m D

S13. Ans.(b)

S14. Ans.(d)

S15. Ans.(a)



